N = 0l & At & Ml A

20168 = 20 A LEHS|H MBS A A
2N Aol AIE A
MM SEXHQ A2 Aotax=E EINM
©e: DSa4E BRl2Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Aol AP A 11,069,841 8,406,687 2,663, 154
= 3,352,000
Xl 500,000
& 2,500
= 7,215,341
SSHOl 2A2Z MOz =ZEIA 350,843 5,425,396 1,925,447
= 3,352,000
Xl 500,000
& 2,500
= 3,496,343
OISsAasE 24229 1,152,900 475,788 677,112
Xl 500,000
= 652,900
lsatsS S22 498,402 475,788 22,614
101 e1214| 20,754 0 20,754
04 JI2tHI22NEES 20,754 0 20,754
(OPIE=E=; 48,240 x250 12,060
oan=2 12,060,000 «4/12 4,020
ORsxFzsY 48,240 52 2,509
O x4 48, 240& x20F 965
OYEF I 600,000 *23| 1,200
201 et 69,380 67,020 2,360
01 AP 2t 2| bl 69,380 67,020 2,360
ODISH4E Ha +HAMN 242
540,000 *127 0 & 68,580
OARPET A2 H2AES A2 F D]
2 100, 000& 4Nl E *x23| 800
202 044 2,000 2,000 0
01 2L I 2,000 2,000 0
Odt+E g2 =& 2,000
206 M = H| 19,000 19,500 A500
01 XHZ H| 19,000 19,500 A500
OAARLEZANE ASAHE 2 18,000
OARAEEEANAE 2ZH=YE 2L 1,000
401 AlEHIZ 201 Y| 387,268 387,268 0
01 Al&H| 385,000 385,000 0
ODISA4+E getar B
1,000,000 x1500H A~ 1A 150,000
OF=Z=2H WHZ2A 100,000
Oonlsast 2tz8 70,000
Ollsa 23E 2> 30,000
OARARLETANYE ASD| EXAMY
3,500,000 1004 &~ 35,000
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MGt AN &
EEX0 2R MEtaT 2ENA
Dlsass Doy CERED
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
03 AlE 2 THHI 2,268 2,268 0
=S 2HLH S M 720
Ooltsad=t 22 E= 630
Olts&=& 23 E= 540
OAREF=EANE A=I| XA 378
ARDACAEHE ALY 654,498 0 654,498
Xl 500,000
[ia 154,498
401 AIEHIZL 20HEI 654,498 0 654,498
Xl 500,000
[ia 154,498
01 A& HI 650,000 0 650,000
OLRAZE=TAIE HE 650,000
Xl 500,000
e 150,000
03 A& S THHI 4,498 0 4,498
OLna2==E A4 HE  714,000,000& *0.6299% 4,498
SANE HA 6,038,016 4,812,872 1,225,144
= 3,352,000
< 2,500
s 2,683,516
sHMelAld |2 5,472 5,472 0
201 Let24d] 5,472 5,472 0
01 At 2teltl 3,572 3,572 0
O ==& & Attl 172
OF3E CtHEAN R 400
Oz=stdd Hogs ¢ 3,000
02 =224l 1,900 1,900 0
OFSXE AUS AN E8= 600
Odtot=& &3l 1,300
UM BUHRE FH FEAY 30,000 60,000 30,000
401 AIEHI L 20 30,000 60,000 230,000
01 A& HI 30,000 60,000 30,000
O ot==32Held FHISAY 30,000
ST HEFAS 10,000 11,000 A 1,000
401 Al HI L =2 Tl 10,000 10,000 0
01 A& HI 10,000 10,000 0
OZsaTA e+ 10,000
HE OtSot=% HHIAMY 2,640,000 2,765,000 A 125,000
= 1,848,000
e 792,000
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St AL A
A0l 222 Aolx=T &AM
=C A4 o CEE-ED
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
1T AIEHIZ 20| 2,640,000 2,765,000 A 125,000
= 1,848,000
= 792,000
01 Al&H| 2,628,953 2,747,582 A 118,629
OUWEXNT? sH=0tSot4=S AU ALY
429,000,000 *(1-0.72%) 425,912
= 300,000
= 125,912
OD0r2X = %(H—’EU}%%H‘— ALY
2,211,000, 0002 *(1-0.36%) 2,203,041
= 1,548,000
= 655,041
03 AlE 201 11,047 17,418 NBG,371
OUWEXNT? sH=0tSot4=S AU ALY
429,000,000 *0.7198% 3,088
OlIY2X 2 s =0ISot=% AUIAY
2,211,000, 000 0 .35996% 7,959
ol =4 & 2Ze| 100,900 100,900 0
1AL H Y20 100,900 100,900 0
01 Al&H| 100,000 100,000 0
Odtx= =4 L 22| 100,000
03 Al 20| 900 900 0
Qdlx=r =4 ¢ 22| 900
otEE 20 FUSJ ALY 100,900 401,500 A 300,600
401 Al HI L 2 0HHI 100,900 401,500 A 300,600
01 Al&H| 100,000 400,000 A 300,000
Odl4=T 20 =0 =|AAS 100,000
03 AlE 21| 900 1,500 A 600
Obdl4+==20F FOSRAALLY 900
[Sol=S HEAS(HelZ) 211,512 211,000 512
401 Al HI L £ 0HHI 211,512 211,000 512
01 Al& H| 210,000 210,000 0
OlIZdtHMeldE L SHEZE AIE2 WA
& 210,000
03 AlE £ 0HH] 1,512 1,000 512
QltSot3=E HAIS (Hel &)
210,000, 000%0.72% 1,512
A 2CHAHl Gl=2t01 BHIALY 2,148,000 1,077,000 1,071,000
= 1,504,000
= 644,000
401 AlEHIZL £ 0HY| 2,148,000 1,077,000 1,071,000
= 1,504,000
= 644,000
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AN dot=SAFE A
M SEH0 HZZ Aot =EIMA
el ST AE A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 2,140,268 1,070,215 1,070,053
Oa 263 dt==2t) FHIAMY
2,148,000, 000%(1-0.36%) 2,140,268
2 1,504,000
e 636,268
03 Al 2 THHI 7,732 6,785 947
Oa 263 dt==2t)1 FHIAL
2,148,000,000%0.35996% 7,732
SOHE OSol=& HdAEHEY 474,000 0 474,000
401 Al HI R 201 I 474,000 0 474,000
01 A& HI 474,000 0 474,000
2T sHE OISot=S AAEHEL 156,000
28T sOHE OiSot=k dAEHES 163,000
OZEXNF sHE OtSot=% FHIAY AAIE
HESA 155,000
DiSot== HEASE (2Z) 312,232 0 312,232
401 AIEHIZL 20 312,232 0 312,232
01 A& tl 310,000 0 310,000
O2Y =X 72 5 o222 BE3A 160,000
Odld AF A& ot=22 AAAMY 150,000
03 Al S HHI 2,232 0 2,232
OltSdta=S IHEAIY (22)
310,000,000%0.72% 2,232
A8 YSOISAA A A 5,000 0 5,000
< 2,500
s 2,500
401 AIEHI L 2 CHYI 5,000 0 5,000
< 2,500
e 2,500
01 A& HI 5,000 0 5,000
OAd S=S0IEEANE EXAY 5,000
< 2,500
s 2,500
dF D222 159,927 136,736 23,191
Ham o2ne 159,927 136,736 23,191
101 @124l 41,507 39,036 2,471
04 JIZHHZ2Z2XNSE+ 41,507 39,036 2,471
OFx=Z 222l 41,507
—Jles 48,240 250 2 H 24,120
— &0z 12,060,000 x4/ 12%2H 8,040
—fEFssE 48,240& 525 x2H 5,017
— QX 48,2403 x20 Y x2H 1,930

- 480 -




A

o |2
] IELE 7
N o lo 51515
KD 8|8 wm%ww oo
7,3 ™ o
5! glgl2glg|g 21218 |8|8|8
= E|& s < | < |g sl1g8lg|8|8
BN I %8% 6,,8,2% S 18
— Apono 4%67,, 3|3 o |2
<1< == = | = & | R S o
VA RN ~ < m
o |o @ .
2|8 - )
~ | o | &
H3r & |5 2%%%% ™
WiEd mmg,g,g, 818 (8 =
R= EQ%%% S IR o
Sglala = | =
222,2, N N N
o ~ o |o
o
o
S8 18
Am&mmoo
2,,962088
m.mmmﬁw_/,qu,_b,mou_%55
Ir 11”8%224&2%4%33
D ,G,ro%wwzyz'gyg%owoo
= 33&.6,633%26,008%8%00
oo o 34%&%22%%%%00
41ww1,1,6,9mmmmoo
22m7, O,Omw%
80
& A4~
o S SRR
w0 |z NN
o) @0 @
B s A A=
S *
oS 5oa
a3 s gz m
< * X Ly
I+ w o
= s g M *
< ﬂwOMo o
. P ]
il b il =
o= M o = Rl 3
F In i f | w | 1o =
o _ <F ] ma_x_e o
- aﬂ 5o s 5" h _ | ur | ® o m | < =
o — D &l = | K I o
0 o o< RCOR = o 3| = il ur | 8P = -
& R T i el B B = RO =
%0 | oF 30 oll MT H bl = r,ﬂ_ o U0 bt H T ] Kk -
. 0 ! BE R ur | w B | = = ~ o R
= | o o < w | = K
o= — O.__.o|mH_E B f e - < o — ma,x_.
o wn | K = |z 2z | o | o q 5 o | = ok 2 o
Dl e o | %0 i = -
o+ o U.l_ H | = Olx |~ % /Ah WAm 1 H_Hm_. d Wm = &l
_;JATm W | = £ oF |mo_M4&
o | ok | = A bl = |5 KF oF)
2 + | R R | = 3 3 ol R K-
- L AE I w g
wlw % ° N5 o RO <
W | & |° 2
~ QI S

ok

RO

|
110

- 481 -




